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ŸÊ◊Ê¢∑§ Roll No.
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No. of Printed Pages — 7

◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2010
SECONDARY EXAMINATION, 2010

ÁflôÊÊŸ ó ÁmÃËÿ ¬òÊ
SCIENCE – Second Paper

‚◊ÿ — 3 
1
4   ÉÊá≈U

¬ÍáÊÊZ∑§ — 40

¬⁄UËˇÊÊÁÕ¸ÿÙ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —

General Instructions to the Examinees:

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –

Candidate must write first his / her Roll No. on the question paper

compulsorily.

2. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –

All the questions are compulsory.

3. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book only.

4. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
There are internal choices in Question Nos. 23 & 24.

5. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ „Ò¥U –
Question Nos. 2 to 5 are Very Short Answer type questions.

6. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜ Á‹π¥ –
For questions having more than one part, the answers of those parts

are to be written together in continuity.
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7. ¬˝‡Ÿ ‚¢ÅÿÊ 1 ◊¥ 4 ÷Êª  ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ øÊ⁄U Áfl∑§À¬ •, ’, ‚
•ÊÒ⁄U Œ ÁŒÿ ªÿ „Ò¥U – ‚„UË ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê ’ŸÊ∑§⁄U ŒËÁ¡∞ —
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
four alternatives A, B, C and D . Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§
Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U
Correct letter of

the Answer

1.      (i)

1.      (ii)

1.      (iii)

1.      (iv)

1. (i) Á‹¢ª ªÈáÊ‚ÍòÊ ◊¥ Y  ªÈáÊ‚ÍòÊ •ÊŸÈfl¢Á‡Ê∑§Ëÿ M§¬ ‚ ∑§◊ ◊„Uàfl¬ÍáÊ¸ „Ò¥U, ÄÿÊ¥Á∑§ ß‚◊¥ „Ò
(•) DNA ∑§Ë •Áœ∑§ ◊ÊòÊÊ (’) DNA ∑§Ë ∑§◊ ◊ÊòÊÊ
(‚) RNA ∑§Ë •Áœ∑§ ◊ÊòÊÊ  (Œ) RNA ∑§Ë ∑§◊ ◊ÊòÊÊ – 
In the sex chromosome, Y  chromosome is genetically less
important, because it has

(A) higher quantity of DNA  

(B) lesser quantity of DNA  

(C) higher quantity of RNA

(D) lesser quantity of RNA . 1
2  

(ii) ÿÁŒ πÊl oÎ¢π‹Ê∞° ©Uà¬ÊŒ∑§ ‚ ¬˝Ê⁄Uê÷ Ÿ„UË¥ „UÊ∑§⁄U ◊ÎÃ ¬ŒÊÕÊZ ‚ ¬˝Ê⁄Uê÷ „UÊÃË „Ò¥, ÃÊ ©U‚
ÄÿÊ ∑§„¥Uª ?
(•) ÉÊÊ‚ ◊ÒŒÊŸ πÊl oÎ¢π‹Ê (’) ÃÊ‹Ê’ πÊl oÎ¢π‹Ê
(‚) •¬⁄UŒ πÊl oÎ¢π‹Ê (Œ) ‚◊Èº˝Ë πÊl oÎ¢π‹Ê – 
If food chain does not start from producer but begins from dead
organism, what are they called ?

(A) Grass land food chain (B) Pond food chain

(C) Detritus food chain (D) Ocean food chain. 1
2  
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(iii) ÿÁŒ ∞∑§ Á‡Ê‡ÊÈ Á’ÑË ∑§Ë •ÊflÊïÊ ∑§Ë Ã⁄U„U ⁄UÊÃÊ „ÒU, ÃÊ ©U‚◊¥ „UÊŸ flÊ‹ Áfl∑§Ê⁄U ∑§Ê ŸÊ◊
„Ò

(•) ◊Ê¡Ê¸⁄U ∑˝§ãŒŸ (’) Ä‹ÊßŸ»§À≈U⁄U

(‚) Á»§‹Ê«UÁÀ»§ÿÊ-22 (Œ) ≈UŸ¸⁄U – 

If an infant weeps like a cat, the name of the syndrome is

(A) Marjar Krandan (B) Klinefelter’s

(C) Philadelphia-22 (D) Turner’s. 1
2  

(iv) ÿÁŒ ∞∑§ πÊl oÎ¢π‹Ê ◊¥ ÉÊÊ‚-∑§Ë«∏UÊ¥-◊…∏U∑§-‚¬¸-’Ê¡ ◊¥ ∑˝§◊‡Ê— 1000, 100, 10,

1 fl 0·1 Á∑§‹Ê ∑Ò§‹Ê⁄UË ™§¡Ê¸ ¬„È°UøÃË „ÒU, ÃÊ ¡Òfl÷Ê⁄U ∑˝§◊‡Ê—

(•) •Áœ∑§ „UÊªÊ (’) ‚◊ÊŸ „UÊªÊ

(‚) •¬Á⁄UflÁÃ¸Ã ⁄U„UªÊ (Œ) ∑§◊ „UÊªÊ – 

If in a food chain, energy reaches in grass-insects-frog-snake-

vulture are gradually 1000, 100, 10, 1 and 0·1 k.cal, the

biomass will gradually

(A) increase (B) remain same

(C) no change (D) decrease. 1
2  

2. ◊á«U‹ ∑§ ÁŸÿ◊Ê¥ ∑§ ∑§Êß¸ ŒÊ ◊„Uûfl Á‹Áπ∞ – 
Write any two importances of Mendel’s laws. 1

4  + 
1
4  = 12  

3. ‚ÈªÈÁáÊÃÊ fl •‚ÈªÈÁáÊÃÊ ◊¥ •ãÃ⁄U Á‹Áπ∞ –
Write the differences between euploidy and aneuploidy. 1

4  + 
1
4  = 12  

4. Á∑§‚Ë Áfl‡Ê· ˇÊòÊ ◊¥ ¬Ê∞ ¡ÊŸ flÊ‹ ¬ÊŒ¬ ∞fl¢ ¡ãÃÈ•Ê¥ ∑§ •ãÃ‚¸ê’ãœÊ¥ ∑§ ‚¢Œ÷¸ ◊¥ ¬ÿÊ¸fl⁄UáÊ
•äÿÿŸ ∑§Ê ÄÿÊ ∑§„UÃ „Ò¥U ?

What is the study of environment with reference to the interrelations
of plants and animals present in a particular region called ? 1

2  
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5. Sfl¬ÊÁ·ÿÊ¥ ∑§Ê ¬⁄UÊ‚⁄UáÊ¬Ê·Ë ∑§„UŸ ∑§Ê ÄÿÊ ∑§Ê⁄UáÊ „Ò ? 

What is the reason to call autotrophs as osmotrophs ? 1
2  

6. ‚ŒÊ’„UÊ⁄U ŒÎ…∏U¬áÊË¸ flÎˇÊ ∑§„UÊ° ¬Ÿ¬Ã „Ò¥U ? 

Where do the evergreen non-deciduous trees grow ? 1

7. ‹Ê‹ fl „UÁ⁄UÃ ¡Òfl ¬˝ÊÒlÊÁª∑§Ë ◊¥ •ãÃ⁄U Á‹Áπ∞ – 

Write the difference between red and green biotechnologies.  1

8. ÿÁŒ Á∑§‚Ë √ÿÁÄÃ ∑§Ê ∑§◊ ¬˝∑§Ê‡Ê ÿÊ ⁄UÊÃ ◊¥ ÁŒπÊß¸ Ÿ„UË¥ Œ ⁄U„UÊ „UÊ, ÃÊ ©U‚◊¥ ∑§ÊÒŸ-‚Ê ⁄UÊª  
„ÒU ? ÿ„U ⁄UÊª Á∑§‚ Áfl≈UÊÁ◊Ÿ ∑§Ë ∑§◊Ë ∑§ ∑§Ê⁄UáÊ „Ò ? 

By which disease is a person suffering from if he cannot see in dim

light or at night ? Deficiency of which vitamin causes this disease ?

1
2  + 12  = 1

9. πÊl ∑§ M§¬ ◊¥ ∑§Ê◊ ‹Ë ¡ÊŸ flÊ‹Ë ŒÊ ‚◊Èº˝Ë ‡ÊÒflÊ‹Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞ – 

Write the name of two marine algae which are used as food.
1
2  + 12  = 1

10. ∞‹¡¸Ÿ Á∑§‚ ∑§„UÃ „Ò¥U ? ß‚‚ ©Uà¬ÛÊ ∑§Êß¸ ŒÊ Áfl∑§Ê⁄U Á‹Áπ∞ – 

What are allergens ? Write two symptoms derived from it.
1
2  + 14  + 14  = 1

11. ‚¢¡ËŸ ( ¡ËŸÊ◊ ) Á∑§‚ ∑§„UÃ „Ò¥U ? ∞∑§ ©UŒÊ„U⁄UáÊ mÊ⁄UÊ ‚◊¤ÊÊß∞ –
What is genome ? Explain with an example. 1 + 12   = 1 

1
2  

12. ∑Î§ÁòÊ◊ ª÷Ê¸œÊŸ ∑§Ê ◊ÈÅÿ ©Ug‡ÿ Á‹Áπ∞ – ß‚∑§Ë ŒÊ ∑§Á∆UŸÊßÿÊ¥ ∑§Ê ‚◊¤ÊÊß∞ – 

Write the main objective of artificial insemination. Explain its two

difficulties. 1
2  + 1 = 1 

1
2  
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13. ◊≈U⁄U ∑§ ‡ÊÈh ‹ê’ ( TT )  ∞fl¢ ‡ÊÈh ’ÊÒŸ ( tt )  ¬ÊÒœ ∑§ ∑˝§ÊÚ‚ ∑§ F 2  ¬Ë…∏UË Ã∑§ ∑§

¬Á⁄UáÊÊ◊Ê¥ ∑§Ê ø∑§⁄U ’Ê«¸U ’ŸÊß∞ – 

Draw a checker board with the result of crosses between a pure tall

( TT ) and pure dwarf ( tt ) plants up to F 2  generation. 1 
1
2  

14. ¡Òfl ¬˝ÊÒlÊÁª∑§Ë ∑§Ê ÁøÁ∑§à‚Ê ˇÊòÊ ◊¥ ∑§Êß¸ ÃËŸ ©U¬ÿÊª Á‹Áπ∞ – 

Write any three uses of biotechnology in the field of medicine.
1
2  + 12  + 12  = 1 

1
2  

15. ◊‹Á⁄UÿÊ fl «¥UªÍ ⁄UÊª ∑§ ⁄UÊª flÊ„U∑§ ∑§Ê flÒôÊÊÁŸ∑§ ŸÊ◊ Á‹Áπ∞ ÃÕÊ ß‚∑§ ‹ÊflÊ¸•Ê¥ ∑§Ê Ÿc≈U
∑§⁄UŸ „UÃÈ ¡‹Ê‡ÊÿÊ¥ ◊¥ ¿UÊ«∏UË ¡ÊŸ flÊ‹Ë ◊¿U‹Ë ∑§Ê ŸÊ◊ Á‹Áπ∞ – 

Write the scientific name of the vector of malaria and dengue diseases

and give the name of larvivorous fish which is dropped into the pond

to destroy the larvae of it. 1
2  + 12  + 12  = 1 

1
2  

16. L§Áœ⁄U ⁄UÁ„UÃ ‡ÊÀÿ ÁøÁ∑§à‚Ê Á∑§‚ ∑§„UÃ „Ò¥U ? ß‚ Ã∑§ŸË∑§ ∑§ ŒÊ ©U¬ÿÊª Á‹Áπ∞ – 

What is the bloodless surgery ? Write two uses of this technique.

1
2  + 12  + 12  = 1 

1
2  

17. ∑È§¬Ê·áÊ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – ¬˝Ê≈UËŸ ∑§Ë ∑§◊Ë ‚ ◊ÊŸfl ‡Ê⁄UË⁄U ◊¥ „UÊŸ flÊ‹ ŒÊ Áfl∑§Ê⁄UÊ¥ ∑§Ê
‚◊¤ÊÊß∞ – 

Define malnutrition. Explain two diseases in human body caused by

the deficiency of protein. 1
2  + 12  + 12  = 1 

1
2  

18. ◊ÊŸfl ßã‚ÈÁ‹Ÿ Á∑§‚ ¡ËflÊáÊÈ ‚ ¬˝ÊåÃ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „ÒU ? ß‚ ßã‚ÈÁ‹Ÿ ∑§Ê ÄÿÊ ∑§„UÊ ¡ÊÃÊ
„ÒU ? 

From which bacteria is human insulin obtained ? What is called this

insulin ? 3
4  + 34  = 1 

1
2 
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19. ÁŸêŸÁ‹ÁπÃ πÁŸ¡ ÃàflÊ¥ ∑§Ê „U◊Ê⁄U ‡Ê⁄UË⁄U ◊¥ ∑§Êÿ¸ Á‹Áπ∞ – ßŸ∑§Ë ∑§◊Ë ‚ ∑§ÊÒŸ-‚ ⁄UÊª „UÊ

¡ÊÃ „Ò¥U ?

(∑§) ‹ÊÒ„U Ãàfl

(π) ∑Ò§ÁÀ‡Êÿ◊

(ª) •ÊÿÊ«UËŸ – 

Write the function of the following minerals in our body. Which

diseases are caused by their deficiency ?

(a) Iron element

(b) Calcium

(c) Iodine. 1
2  + 12  + 12  = 1 

1
2  

20. L§Áœ⁄U flª¸ •Ê ∑§Ê ‡ÊÍãÿ flª¸ ŸÊ◊ ÄÿÊ¥ ∑§„UÊ ªÿÊ „ÒU ? ÿ„U L§Áœ⁄U flª¸ ∞’Ë ‚ Á∑§‚ ¬˝∑§Ê⁄U Á÷ÛÊ  

„ÒU ?

Why is the blood group O named as zero ( 0 ) group ? How does this

blood group differ from blood group AB ? 1
2  + 1 = 1 

1
2  

21. ⁄U‡Ê◊ ∑§Ë≈U ∑§ ¡ËflŸ ø∑˝§ ∑§Ê ‚ÁøòÊ fláÊ¸Ÿ ∑§ËÁ¡∞ ∞fl¢ ⁄U‡Ê◊ ¬˝ÊåÃ ∑§⁄UŸ ∑§Ë ÁflÁœ Á‹Áπ∞ –

Describe the life cycle of silkworm with diagram and write the method

to obtain silk. 2 + 1 + 1 = 4

22. ¡ÒÁfl∑§ πÊŒ ÃÕÊ fl◊Ë¸ ∑§ê¬ÊS≈U ∑§Ê ‚◊¤ÊÊß∞ – ∑§fl∑§◊Í‹ Á∑§‚ ∑§„UÃ „Ò¥U ? ‚„U¡ËflË

∑§fl∑§◊Í‹ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –

Explain the bio-manure and vermi compost. What is mycorrhiza ?

Draw a labelled diagram of symbiotic mycorrhiza. 2 + 1 + 1 = 4
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23. «UË ∞Ÿ ∞ ∑§Ë •ÊÁáfl∑§ ‚¢⁄UøŸÊ ∑§Ê flÊ≈U‚Ÿ-Á∑˝§∑§ ¬˝ÁÃM§¬ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ – ¬˝ÁÃM§¬ ∑§Ê
ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ – 

•ÕflÊ

©Uà¬Á⁄UflÃ¸Ÿ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – ∑§Ê⁄UáÊÊ¥ ∑§ •ÊœÊ⁄U ¬⁄U ©Uà¬Á⁄UflÃ¸Ÿ Á∑§ÃŸ ¬˝∑§Ê⁄U ∑§ „UÊÃ   
„Ò¥U ? Á’ãŒÈ ©Uà¬Á⁄UflÃ¸Ÿ ∑§Ê ⁄UπËÿ •Ê⁄Uπ mÊ⁄UÊ ‚◊¤ÊÊß∞ – 

Describe the molecular structure of DNA of Watson-Crick model.

Draw a labelled diagram of the model. 3 + 1 = 4

OR

Define mutation. How many types of mutation are there on the basis

of causes ? Explain point mutation with the help of linear diagram.

1 + 1 + 2 = 4

24. ¬‡ÊÈ Ä‹ÊŸË∑§⁄UáÊ ∑§Ë ¬˝Á∑˝§ÿÊ ∑§Ê ‚◊¤ÊÊß∞ – ¬˝Á∑˝§ÿÊ ∑§Ê ‚¢ÁˇÊåÃ •Ê⁄Uπ ÷Ë ’ŸÊß∞ – 

•ÕflÊ

¬ÈŸ—‚¢ÿÊ¡Ë «UË ∞Ÿ ∞ Ã∑§ŸË∑§ ÄÿÊ „ÒU ? ß‚ Ã∑§ŸË∑§ ∑§Ê ⁄UπËÿ •Ê⁄Uπ ’ŸÊß∞ – ß‚∑§ ∑§Êß¸
øÊ⁄U ◊„Uàfl¬ÍáÊ¸ ©Uà¬ÊŒ ∞fl¢ ©UŸ∑§ •ŸÈ¬˝ÿÊª Á‹Áπ∞ –

Explain the process of animal cloning. Draw in brief, the linear

diagram of the process. 3 + 1 = 4

OR

What is recombinant DNA technology ? Draw a linear diagram of this

technology. Write any four important products and their applications.

1 + 1 + 2 = 4

                        


